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DA / FO2 SAT reachability of VASS
ARA-1 / 1-regLTL reachability of ICA

on data trees XPath SAT reachability of ITCA
FO2 SAT reachability of BVASS+

[Bojańczyk & al.]

[ Jurdziński & Lazić]

[Demri & Lazić]

[Dimino & al.]
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if f(n)=n : f-VASS = VASS / c.s. reach.:  ExpSpace-c

if f(n)=2n : csreach( f-VASS) : 2ExpSpace-c

if f(n)= 2            : csreach( f-VASS) : (k+1)ExpSpace-c
2n

…

|
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}

k

f-VASS  :  VASS with f (n) counters

[Lipton, Rackoff ]
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Open Problem

SAT on data trees reachability for branching VASS?


